20159 = 20la LBt WAEIS ~ 2E2S
A UFIS
M NEH1s FUHH Jlgr2 st
Sl FOIME SYLHAE SREED
= _ — d =
SN FE - EA(SA) - MRAY - BES e 2
IS 143,930 142,814 1,116
AlHI 8,643
T Hl 135,287
A¥1s FLMH Jlet st 125,026 123,910 1,116
AlHI 8,643
T Hl 116,383
Qldle 2 WA St 125,026 123,910 1,116
AlHI 8,643
- Hl 116,383
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OF2UXX&zE 3 =g
,000& x25H «12& »90% 2,700
AlHI 1,971
24| 729
oz M# 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 92,920 92,920 0
301 et d = 92,920 92,920 0
05 SE -0 -tEEsE 92,920 92,920 0
Os&E=+% 200,000 x28H x12& 67,200
OsZdNH= 200,000& 282 *23| 11,200
Os&zo FA&+g 20,0009 x28H » 123 6,720
OB 43 25,0003 156 H »23| 7,800
BAMRA & e 16,546 15,430 1,116
201 £B-2dH| 14,830 14,830 0
02 =24l 14,830 14,830 0
OFAr2el 250
dstX EA 150,000 150
SY3 Fa 100,000& 100
OFAMEZ & H 2,352,000 2,352
OFA 2= | 1,258,000& 1,258
Ooxg |X 3,400,000 3,400
OFAL HIl& 5,900,000 5,900
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N = 0l & At & M A

20158 & 2014 LB3H NHIS ~ 2H2S

2M: WH2S
HE: DWeS FOIME UL
chol: FOIME SHUA S (sl &2)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
UZ2s 136,507 140,357 A 3,850
AlHI 15,388
T Hl 121,119
AFH2s FLMH JlgtL st 118,373 122,763 A 4,390
AlHI 15,388
T Hl 102,985
FOHE 2EUHA S 118,373 122,763 A 4,390
AlHI 15,388
- Hl 102,985
QXX 2EEL 21,080 21,080 0
Al 15,388
T Hl 5,692
201 Let249] 10,880 10,880 0
Al 7,942
Tl 2,938
01 At 22l 10,880 10,880 0
OFCURXE T2 2AxE
20,0003 +323| x12& 7,680
AlHI 5,606
- Hl 2,074
OFQURXHAS 3IoA&AN &
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000 500
AlHI 365
1 Hl 135
301 L2 A F 10,200 10,200 0
AlHI 7,446
T Hl 2,754
11IIEtEA S 10,200 10,200 0
OBMHESEY NESAX &H24
10,0002 x853| x12& 10,200
AlHI 7,446
-l 2,754
s -8y 23 N 73,780 73,780 0
301 LEtE A= 73,780 73,780 0
05 SE -0 RS2 73,780 73,780 0
Os&E=+¢ 200,000 x22H «12& 52,800
Os&dN= 200,000& 22X x23| 8,800
Os&3o F4&x¢ 20,0003 x22H 12 5,280
OgtEE 43 25,0003 138K »23| 6,900
EAMNRA & e 19,663 23,063 A 3,400
201 Let249] 13,063 13,063 0
02 =224l 13,063 13,063 0
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SA: DHes
g 128 FLUHH IS}
ol FOIME 2YLHAs (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
O&E A2 560
dotx A 150,000& 150
Y43 A 110,000& 110
= - AR DN 300,000 300
Oxg |X 2,800,000& 2,800
OFEAL A=K 987,000& 987
OFA HIlz 6,336,000& 6,336
OFA & -ot=Ek& 880,000& 880
OEM RUYH =2 1,440,000 1,440
OFAL SBHERES 60,000& 60
401 AIEHI L 20HEI 3,000 5,000 A 2,000
01 A& HI 3,000 5,000 A 2,000
Os&A 28 Ual2d4a &ZI& 3,000,000 3,000
405 TtabFH S| 3,600 5,000 A 1,400
01 AL EZFH S 3,600 5,000 A 1,400
Osleg &X wH 3,300,000& 3,300
Olslo s 240013 WA 300,000 300
QEEs 24 3,550 4,540 A 990
201 L Er2A | 3,250 3,790 A 540
01 At2 22l bl 3,250 3,790 A 540
ORI AA HMA 540,000& 540
OdiolEeH & 600,000& 600
OdioldEZeH EU 850,000 850
O=AMI EUY 780,000 780
oA ElH 480,000 480
405 TtabH S| 300 750 A 450
01 AL EZFH S 300 750 A 450
OA WX 300,000& 300
=2 g9 g5 I 300 300 0
301 et a s 300 300 0
MIIEEd= 300 300 0
o8 N9 g5 LA 24 300,000 300
HYR2IZH (WH2S) 18,134 17,594 540
Jl=&dl 18,134 17,594 540
Jl= &l 18,134 17,594 540
201 Let24E] 8,834 8,294 540
01 At 22l 5,634 5,094 540
ORN2E+=EHl 2,610,000 2,610
OJl=ge=a =&l 3,024,000& 3,024
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N = 0l & At & M A

20158 & 2014 LB3H NHIS ~ 2H2S

2N DHIS
MM NAHIZS FLHAEH Dt
Sl FOIME YA (B9 ®R)
- _ _ RE]
M- o9 (B H) - MEAY - BAS %Ei HR=2
MIPS 145,360 155,300 N9,940
Al H] 18,601
T 126,759
1 H3=s FOIME DA S 127,256 137,196 AN9,940
Al H] 18,601
T 108,655
ME 29 LLHASH 127,256 137,196 N9,940
Al H] 18,601
T 108,655
IR g 2EEX 25,480 27,420 AN 1,940
Al H] 18,601
Tyl 6,879
201 et d| 14,280 16,200 AN 1,920
AlHI 10,425
-yl 3,855
01 AF 22| H| 12,840 14,760 A 1,920
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al H] 6,307
Tl 2,333
OFCXXPE 3o &S G
10,000 25" % 123| *90% 2,700
Al H] 1,971
T 729
O=E2 H& 500,000 500
Al H] 365
24| 135
OXSTAS AIRES ¢ 1,000,000& 1,000
Al H] 730
T 270
02 324 H| 1,440 1,440 0
OS2 A2 25U AtE2 120,000& ~12& 1,440
Al HI 1,052
24| 388
301 et A= 11,200 11,220 A 20
Al HI 8,176
24l 3,024
11 J|EtE A2 11,200 11,220 A 20
OXST A2 X3S ALAH A HI 24 11,200
oz 20,000 2513 5,020
Al H] 3,665
24l 1,355
FUZ2F 60,000& 1033l 6,180
Al H] 4,511
Tyl 1,669
£ uE g5 1 72,880 72,880 0
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SA: DHIS
g NH3S FUHH It 5t
Sl FOIME SYLHAE CERED
= _ = s
SA - - ERA(B) - NTAY - BES 0f o il Hl D52
301 gEtE A= 72,880 72,880 0
058 -0 -8t83E8s243 72,880 72,880 0
osg¥=¢g 200,000& x22H »12& 52,800
OsZaN= 200,000& »22H »23| 8,800
Os¥a9 4=+ 20,000 x22H x123] 5,280
oetE=2d=s 25,0003 1202 23| 6,000
BAMNRX R A2 25,176 33,176 A8,000
201 fet2E | 23,196 23,196 0
02 3324l 23,196 23,196 0
OFAb2tel 1,550
et FA 650,000 650
S83 Fa 300,000 300
Sl eI 8 600, 000& 600
oxtg !X 3,400,000& 3,400
OF A HEHZH 1,786,000 1,786
O3M 22 =X 3,438,000& 3,438
OFA HI12 9,000, 000& 9,000
OFA 2EH =8 1,692,000& 1,692
OEM EZMNERES 130,000& 130
OEMN NERLEES 300,000 300
OEM & otk 2 900,000& 900
OxPANE FXNEF 1,000,000 1,000
307 212t0l & 1,980 1,980 0
05 22t & 3 1,980 1,980 0
O2+=E3tA4 &2 165,000& =123 1,980
QA 2 3,420 3,420 0
201 fet23E | 3,420 3,420 0
01 At 22l bl 3,420 3,420 0
OS&AMA H= 540,000 540
OclolM=gly &3 600,000 600
OdolMdEZeH &Y 850,000& 850
O=SAMIIEYH 950,000 950
omAEYH 480,000& 480
Fo seds g5 NE 300 300 0
301 YAz 300 300 0
NIIEtEa = 300 300 0
O Tts¢yd &5 FItA 24 300,000 300
HH2HZH (UE3S) 18,104 18,104 0
=l 18,104 18,104 0
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= o
N & o & AF & H A A
20158 & 20lah LEHSIH B 1S ~ AE2S
2AM: WH4S
M DWAS FOME JluLa
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
UTLAS 121,405 123,115 21,710
AlHI 8,643
T Hl 112,762
AEV4s F=LHH Jlet st 102,901 105, 151 A 2,250
AlHI 8,643
T Hl 94,258
FOHE 2EUHA S 102,901 105, 151 A2,250
AlHI 8,643
- Hl 94,258
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFURXHAG T2 2AE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OF2XXz 3oa&Es =&
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000& 500
AlHI 365
1 Hl 135
s -8y 23 N 69,290 69,290 0
301 L2 A= 69,290 69,290 0
05 S& -0 -EtEEs2483 69,290 69,290 0
Os&E=+% 200,000& x21H «12& 50,400
OsZdNH= 200,000& 21X x23| 8,400
OsH3dgHg 20,0003 x21H x12& 5,040
OB 43 25,0003 *109H »23| 5,450
IART ¥z 8,051 20,301 ~2,250
201 £B-2dH| 15,301 15,301 0
02 =24l 15,301 15,301 0
OFAL 2e] 350
HotXE A 150,000 150
H HEDIIRX 200,000 200
Ooxg |X 3,400,000& 3,400
OFAL HEAZH| 1,400,000& 1,400
OFEA A2KX 1,561,000& 1,561
OFAL HIl& 5,000,000 5,000
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N = 0l & At & M A

20159 = 20la LBt WAEIS ~ 2E2S
SN gels
g dels FedH It st
& FUHAH2E Wa (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
gels 175,908 179,736 A 3,828
AlHI 8,643
T Hl 167,265
gaols =Y JIerdEt 153,142 156,970 A 3,828
AlHI 8,643
T Hl 144,499
FUHMEH2Y Was 153,142 156,970 A 3,828
AlHI 8,643
- Hl 144,499
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFAUNXS A slolas 4o
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
oz M# 500,000 500
AlHI 365
1 Hl 135
s -8y 23 N 120,190 120,190 0
301 et d = 120,190 120,190 0
05 S& -0 -EtEEs2483 120,190 120,190 0
Os&E=+% 200,000 x36H «12& 86,400
OsZdNH= 200,000& 362 23| 14,400
Os&3o F4&¢ 20,0003 x36H 12 8,640
OB 43 25,0003 *x215H »23| 10,750
IMRX ¥ R 16,220 19,720 A3,500
201 £B-2dH| 14,720 14,720 0
02 =24l 14,720 14,720 0
OFAr2el 700
dstX EA 200,000 200
SY3 Fa 200,000& 200
O - PR N 300,000& 300
oxg |X 3,200,000& 3,200
OFAM HHEASH| 1,200, 000& 1,200
OFEAL 2= ®AX 1,231,000& 1,231
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N = 0l & At & M A

20158 & 2014 LB3H NHIS ~ 2H2S

SN BHEHS
B 51eHS FOIME D

| BF 2t 3}
ol EOIME 2 LHA S CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
olE1sS 139,956 138,963 993
Al HI 8,643
T 131,313
otHH1s FOIME DJIBHASH 119,896 119,303 593
Al HI 8,643
T 111,253
FOIME 2HUWAS 119,896 119,303 593
Al HI 8,643
T 111,253
FOIXXE HEEX 11,840 11,840 0
Al HI 8,643
Tyl 3,197
201 et d| 11,840 11,840 0
Al Hl 8,643
-yl 3,197
01 AF 22| H| 11,840 11,840 0
O XXz Z208 2AISE
20,000& 363 x12& 8,640
Al HI 6,307
Tl 2,333
OFAUNXS A slolas 4o
10,000 25" % 123| *90% 2,700
Al HI 1,971
T 729
OEEZ2 HZ 500,000& 500
Al HI 365
24| 135
s - A 25 X 82,450 82,450 0
301 ety A= 82,450 82,450 0
05 S& -0 -t EsEAZ 82,450 82,450 0
Os&dsd 200,000 x25&H x12& 60,000
OsSHAMENH= 200,000 x25H 23| 10,000
Os&3 9o &4 20,000 x25H x 12& 6,000
OstaE M= 25,000& * 129 x23| 6,450
HASX L X2 20,626 20,473 153
201 gBt2Ay| 13,473 13,473 0
02 Z32%H| 13,473 13,473 0
O AL22] 500
HotxX HA 100,000& 100
=83 A 100,000& 100
S ueh) KX 300,000& 300
OxXg 81X 3,200,000& 3,200
OFA HE A S H| 1,648,000 1,648
OFAN 22 81X 1,205,000 1,205
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2N
X ZH -
L= B

el

SN FE - EA(SA) - MRAY - BES il Bl RE2
OFAL & 4,600,000 4,600
OFA & -ot==&2 500,000 500
OBMN RAYH 3 1,620,000& 1,620
OFAL SN RES 200,000 200
401 Al HIZ 201 I 1,100 7,000 25,900
01 A& HI 1,100 7,000 25,900
OQIJa QAN =2l 1,100, 000& 1,100
405 TtHabF S| 6,053 0 6,053
01 AL ESH SH 6,053 0 6,053
OMEE QIAAOX & IHHlIs WH
4,000,000& 4,000
Ot Uil = &xX 2,053,000 2,053
DIREHT 2 4,680 4,240 440
201 Let24d] 4,240 4,240 0
01 At 22l 4,240 4,240 0
OQJMA M= 640,000 640
OdiolMZgH &8 600,000 600
OdioldEeH EU 1,220,000& 1,220
O=EAIIENH 1,140,000& 1,140
OBAEH 640,000 640
405 XHoHF S HI 440 0 440
01 HatL ESFH S 440 0 440
OZl=Zgd uH 440,000& 440
=2 sgd g3 N 300 300 0
301 et d s 300 300 0
NJIEEd=s 300 300 0
O=¢ Xedd g3 FIIA E4 300,000 300
HE2HZH(GHH1S) 20,060 19,660 400
JlEZ3l 20,060 19,660 400
JlE2&l 20,060 19,660 400
201 Let24E] 10,720 10,320 400
01 At 22l 6,720 6,720 0
ORM2E =&t 3,360,000 3,360
OJlege+d Sl 3,360,000 3,360
02 =224l 4,000 3,600 400
osE=z 4,000,000& 4,000
203 YR =2l 9,340 9,340 0
01 JIZ22Z YR8 5,940 5,940 0
OJI228 =4l 6,600, 000& *x90% 5,940
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N = 0l & At & M A

20158 & 2014 LB3H NHIS ~ 2H2S

2 A GHEt2
FEF2

H: o BIE
EHe: FOME 2 UA S (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
otEt2sE 199,289 188, 141 11,148
Al H] 19,854
Tl 179,435
olE2s F=0IME J|BH2Z S 178,729 167,281 11,448
Al H] 19,854
Tl 158,875
FOME 2 LA S 178,729 167,281 11,448
Al H] 19,854
Tl 158,875
FOXX3 2EEX 27,200 25,280 1,920
Al H] 19,854
-4l 7,346
201 LBt A H| 15,760 13,840 1,920
AlH] 11,504
Tl 4,256
01 At 22l ] 15,760 13,840 1,920
OF0XXE T2 LAIx=E
20,000& *443| x12& 10,560
Al H] 7,708
T4l 2,852
OFUNIALS sAFA Hg
10,0003 *25% x123] *90% 2,700
Al H] 1,971
T4l 729
O=22 M 500,000 500
AlH] 365
2| 135
OXSETANS 2 24| 2,000,000& 2,000
Al H] 1,460
T4l 540
301 dBEtE A= 11,440 11,440 0]
AlH] 8,350
sl 3,090
11 JIEtE2 &= 11,440 11,440 0
OS2 M2 XHJSALAH AlHI 24 11,440
Za o2t 20,0003 1Y x5 523 5,200
Al H] 3,796
-4l 1,404
S FH(RAE,25)
20,0003 *»2H %22 523 4,160
Al H] 3,036
T4l 1,124
s 0F2t 20,0003 *1H 22«52 2,080
Al H] 1,518
| 562
s - HtE s & 98,400 98,250 150
301 LBt A= 98,400 98,250 150
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2A: ot
b

35

M. o (BH) - HSAY - BAS il HZS2
0BCSHE-0/&-EtEes8a3 98,400 98,250 150
Os&=+Y 200,000& 30" x12& 72,000
OsS&ANHZ 200,000& *30H *23] 12,000
O8&29 &Y 20,000& *30E x12& 7,200
Oer&Eg AZ 25,0003 *144H 23| 7,200
HAMSA L Itz 48,289 38,591 9,698
201 Bt A | 20,775 18,591 2,184
02 35244l 20,775 18,591 2,184
O& AL 22| 555
=83 A 55,000& 55
9. e X 500,000& 500
oxtg |4 3,400,000& 3,400
OFA LA 2 H| 1,648,000 1,648
OFA EFHAH 682,000 682
OFAMN A2 21X 1,829,000& 1,829
OFA dMI&E 10,000,000& 10,000
OFAN & st 2 800,000& 800
OFA ROUYA =5 1,769,000 1,769
OFAN BHIMNEREE 2 92,000& 92
401 Al Bl 20 HI 19,000 15,000 4,000
01 A& HI 19,000 15,000 4,000
OSA 8Z3b8(353 2 SIEA 2 5)
19,000,000& 19,000
405 XtabF S| 8,514 5,000 3,514
01 A&t =S F SHI 8,514 5,000 3,514
O1= Iy WAl 880,000& 880
O18 MRA g 28 7Y 1,584,000 1,584
O3 3os &XA M 3,300, 000& 3,300
O3 32s 2AX A 2,750,000& 2,750
oA 29 4,540 4,860 N 320
201 LEt2AY| 4,240 3,940 300
01 AFR2t2l bl 4,240 3,940 300
O MA H& 540,000& 540
OdiolHEZegly EH 600,000& 600
OdioldEZeld EY 1,320,000& 1,320
O=AMIEH 1,140,000 1,140
OHMAEH 640,000 640
405 XtabF S| 300 920 N 620
01 AL 2B F SHI 300 920 AN 620
oA Wi 300,000& 300
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20158 & 2014 LB3H NHIS ~ 2H2S

SA HEIS
B MBS FOME JIB2s
CHol: ZOIME 2 LA )
= - — L=
SA - ZE-B(EN) - NRAY - B S il
MBS 156,011 155,401 610
AlHI 8,643
T Hl 147,368
AME1s FLMEH Jletd st 136,231 136, 141 90
AlHI 8,643
T Hl 127,588
QIHH 2ILHA st 136,231 136, 141 90
AlHI 8,643
- Hl 127,588
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFQURXHAS 3IoA&AN &
10,0003 259 123 *90% 2,700
AlHI 1,971
2l 729
OsE= M 500,000& 500
AlHI 365
1 Hl 135
s -8y 23 N 105,830 105,830 0
301 L2 A= 105,830 105,830 0
05 S& -0 -EtEEs2483 105,830 105,830 0
Os&E=+% 200,000 *32H «12& 76,800
OsZdNH= 200,000& *32H »23| 12,800
Os&3o F4&¢ 20,0003 x32H x12& 7,680
OB 43 25,0003 x171H »23| 8,550
BAMRA & e 14,401 14,021 380
201 £B-2dH| 14,021 14,021 0
02 =24l 14,021 14,021 0
O& At 2el 600
dstX EA 200,000 200
SY3 Fa 100,000 100
O - PR N 300,000& 300
oxg |X 3,200,000& 3,200
OFA B3 &b 708,000 708
OFEAL 2= ®AX 1,252,000& 1,252
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N & o & AF & H A A
20158 & 20lah LEHSIH B 1S ~ AE2S
SN NB2S
M ME2s FOHEH JIgH2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
MNE2S 120,555 136,115 A 15,560
AlHI 8,643
T Hl 111,912
AME2s FQIMEH JlgHL 5t 102,051 117,611 A 15,560
AlHI 8,643
T Hl 93,408
FOHE 2EUHA S 102,051 117,611 A 15,560
AlHI 8,643
- Hl 93,408
QXX 2EEL 11,840 11,840 0
Al 8,643
T Hl 3,197
201 Let249] 11,840 11,840 0
Al 8,643
Tl 3,197
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000& 500
AlHI 365
1 Hl 135
s -8y 23 N 69,290 69,290 0
301 L2 A= 69,290 69,290 0
05 S& -0 -EtEEs2483 69,290 69,290 0
Os&E=+% 200,000& x21H «12& 50,400
OsZdNH= 200,000& 21X x23| 8,400
Os&zo FA&+g 20,000 x21H 122 5,040
OB 43 25,0003 *109H »23| 5,450
BAMRA & e 16,761 32,761 A 16,000
201 £B-2dH| 16,461 16,461 0
02 =24l 16,461 16,461 0
OFAr2el 500
=83 F& 200
H- eI | X 300
Ooxg |X 3,400
OFAL HEAZH| 1,500
OFA 22 &X 1,612
OFAL HIl& 6,000
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= o
N & o & AF & H A A
20158 & 20lah LEHSIH B 1S ~ AE2S
SN BYIS
M HE1s FUHLH Jlgr2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
1= 110,800 139,230 A 28,430
AlHI 8,643
T Hl 102,157
dEis F=ndy Jler&dEt 92,026 120,456 A 28,430
AlHI 8,643
T Hl 83,383
FOHE 2EUHA S 92,026 120,456 A 28,430
AlHI 8,643
- Hl 83,383
QXX 2EEL 11,840 13,760 21,920
Al 8,643
T Hl 3,197
201 Let249] 11,840 13,760 21,920
Al 8,643
Tl 3,197
01 At 22l 11,840 13,760 21,920
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 500,000& 500
AlHI 365
1 Hl 135
s -8y 23 N 62,660 62,660 0
301 L2 A= 62,660 62,660 0
05 S& -0 -EtEEs2483 62,660 62,660 0
Os&E=+% 200,000& x19H «12& 45,600
OsZdNH= 200,000& x19H »23| 7,600
Os&zo FA&+g 20,0009 x19 122 4,560
OB 43 25,0003 «98YH +23] 4,900
HMRK L Ry 13,806 40,316 £26,510
201 £B-2dH| 13,806 13,806 0
02 =24l 13,806 13,806 0
O& At 2el 600
dstX EA 200,000 200
SY3 Fa 100,000 100
O - PR N 300,000& 300
oxg |X 2,800,000 2,800
OFA 22 &X 1,027,000& 1,027
OFAL HIl& 6,235,000& 6,235
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N = 0l & At & M A

20154
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SAHE2
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=]
X ZH - K2l
S =

S | et 3t
ol EOIME YA S CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZE2s 178,391 200,694 A22,303
AlHI 9,972
T Hl 168,419
dEos FUdy JlerdEt 154,919 178,258 A 23,339
AlHI 9,972
T Hl 144,947
FOHE 2EUHA S 154,919 178,258 A 23,339
AlHI 9,972
- Hl 144,947
QXX 2EEL 13,660 13,660 0
Al 9,972
T Hl 3,688
201 Let249] 13,660 13,660 0
Al 9,972
Tl 3,688
01 At 22l 11,840 11,840 0
OFCURXE T2 2AxE
20,0004 +363| x12& 8,640
AlHI 6,307
- Hl 2,333
OFAUNXS A slolas 4o
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
oz M# 500,000 500
AlHI 365
1 Hl 135
02 2324l 1,820 1,820 0
OXMEH RANES> Y LS4
1,400, 000& 1,400
AlHl 1,022
I 378
OQHY AEZ 420,000 420
AlHI 307
T Hl 113
s g g3 N 114,710 114,710 0
301 LAz 114,710 114,710 0
058% -0 -tHESEHS 114,710 114,710 0
os&d=+¢ 200,000& x34H «12& 81,600
OsH&NH= 200,000& 34 *23| 13,600
Os&3lo & 20,0003 +x34H «x12& 8,160
Oostazg ez 25,000 227 H *23| 11,350
NS & XE2e 22,039 44,628 A 22,589
201 L2l 15,039 15,039 0
02 2324l 15,039 15,039 0
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SN BEYLS
B MS FOME JIBYs
ol FOIME 2YLHAs (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
O&E A2 500
283 Fa 200,000& 200
Sl S KA 300,000 300
oxg |X 3,000,000& 3,000
OFAM HEASH| 204,000& 204
OFEA 2= | 1,771,000 1,771
OFA HIlz 6,834,000 6,834
O&AN & -ot=E2 650,000 650
OFA RUER =2 1,980, 000& 1,980
OFAL S3HERE 100,000 100
401 AIEHIZ 28I 2,000 22,000 220,000
01 A& tl 2,000 22,000 220,000
OZXAZS & ti==Al 2,000,000& 2,000
405 XHoHF S HI 5,000 7,589 A2,589
01 AL EZFH S 5,000 7,589 A 2,589
OesI uH 2,000,000& 2,000
O=At2l WA 3,000,000& 3,000
QEEs 24 4,210 4,960 AT750
201 Let249] 4,210 4,240 A30
01 At 22l 4,210 4,240 A 30
OQJAMNA H = 480,000& 480
OdoldERH EE 500,000 500
OdoIMESIH EY 1,360, 000& 1,360
O=AIIEH 1,270,000 1,270
OHAE 600,000 600
=2 sgdd g3 & 300 300 0
301 gt d= 300 300 0
1MIIEBESS 300 300 0
O=¢g Xsedd &3 300,000 300
HY2FZH (HEH28) 23,472 22,436 1,036
Jl2&dd 23,472 22,436 1,036
JlE&l 23,472 22,436 1,036
201 LB-2d| 12,882 11,886 996
01 At 22l 8,382 7,386 996
ORNM2E=EHl 4,350,000& 4,350
OJlegef+=8 Sl 4,032,000 4,032
02 =24l 4,500 4,500 0
OosE= 4,500,000& 4,500
203 YR =&l 10,590 10,550 40
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20158 & 20lah LEHSIH B 1S ~ AE2S
2AM: s
M Oi1s FUAH g2 st
Chol: FOIME SHUA S CEEEED
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
Cti1s 248,515 247,758 757
AlHI 11,504
T Hl 237,011
Cli1s =2dgy Jlgr2st 216,957 216,936 21
AlHI 11,504
T Hl 205,453
FOHE 2EUHA S 216,957 216,936 21
AlHI 11,504
- Hl 205,453
QXX 2EEL 15,760 15,760 0
Al 11,504
T Hl 4,256
201 Let249] 14,260 14,260 0
Al 10,409
Tl 3,851
01 At 22l 14,260 14,260 0
OFCURXE T2 2AxE
20,0003 *443| x12& 10,560
AlHI 7,708
- Hl 2,852
OFUNIALS sAFA Hg
10,0003 259 123 *90% 2,700
AlHI 1,971
T Hl 729
OsE= M 1,000, 000& 1,000
AlHI 730
1 Hl 270
301 L2 A F 1,500 1,500 0
AlHI 1,095
T Hl 405
09 HALAHIEA S 1,500 1,500 0
Og=¢l g=23 MEA 500,000& *33| 1,500
Al 1,095
- Hl 405
s -8 g3 J& 174,680 174,680 0
301 et A3z 174,680 174,680 0
05 8% -0 -tHESEHS 174,680 174,680 0
Oos&d=¢ 200,000& x52H x12& 124,800
OsHaNH= 200,000& *52H x23| 20,800
Os&3lo & 20,0003 x52H «x12& 12,480
Oostazg ez 25,0003 *332H x23| 16,600
EAMSA & e 19,777 20,086 A 309
201 LBH2I | 15,826 14,586 1,240
02 =224l 15,826 14,586 1,240
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